==
N & o & AF & H Al A
20208 & =0l & L BESIH Ml
D SR Rel
AR 222X
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Al 18,117,172
AtE S 22 =X 22,954,927 10,028,808 12,926,119
= 5,459,037
= 246,438
< 2,542,604
Al 14,706,848
2 EHE 19,953,877 7,523,312 12,430,565
= 5,419,037
< 2,216,916
Al 12,317,924
2l XNJHH =22 3,960 12,960 29,000
201 Let24d] 3,960 12,960 29,000
01 At 22l 3,960 12,960 29,000
OgXteldy 23l 250,000& 128 3,000
OdEHZRX =&l 8,000 x2H 52«12 960
TEASOAAALATHIONLE AT X 1,030,000 1,000,000 30,000
207 A RO H| 30,000 0 30,000
01 289 30,000 0 30,000
O=dIHASAAATIMNLH AN S
30,000,000& » 14l 30,000
306 EH 3 1,000,000 1,000,000 0
01 &3 1,000,000 1,000,000 0
Oz BASYAATHNL HARMEH X
1,000,000, 000& 14 1,000,000
MHAIFEDNESE s M4SEEXNA 100,000 150,000 250,000
306 £ 2 100,000 150,000 A 50,000
01 &3 100,000 150,000 250,000
Ogdieldy 22483 X2 (=&, M)
50,000,000& =14 50,000
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oA 50,000,000& =14l 50,000
2020 =& =JIE 3 =M X235k A 180,000 160,000 20,000
< 80,000
Al 100,000
307 gl2tol & 180,000 160,000 20,000
< 80,000
Al 100,000
02 It M AMHEE 180,000 160,000 20,000
02020 =& U=IHE R =W XA &FH
180,000, 000& * 14 180,000
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101 2121 d| 457,232 458,043 A811
04 JIZtHI2E2 NS E 457,232 458,043 A811
OlstEgM sHyOoIH 386,298
—-JI=23 68,7203 *34H x21 2 6 & 294,397
—FF34 68,7203 *34H x24 56,076
—=0AZ 350,473,000& *4 .5% 15,772
—2A2L8E 350,473,000& *3.23% 11,321
— &) YEE 11,321,000& *8.51% 964
—1NE82E 350,473,000& *1.5% 5,258
—MHEE 350,473,000 *0.716% 2,510
Oed MNEME A 70,934
A=) 8,590& *5Al 2t*x30H #2112 »2 0l & 54,117
—FE54 8,590 x5 A| 2H*30H x4 2«2l & 10,308
— =043 64,425,000& *4.5% 2,900
—H2LdEE 64,425,000 *3.23% 2,081
- 1888 64,425,000& *1.5% 967
—MHEE 64,425,000& *0.87% 561
201 Bt A H| 23,152 183,485 A 160,333
01 AP 2t2ld] 23,152 69,265 N46,113
Ogxelzs s22 € NS HEH
2502 *4,0000H *23] 2,000
OA% WESTS 288 J2N0H LD 15,000
— YNE L DSSYBIN 4
500, 0003 83| *3 & 12,000
— B} Y =2 HE 1,800, 000& 1,800
— NEIZIZ ) 2AH| 400,000 34 & 1,200
OdXe&#=EH M= 2,500,000%23] 5,000
O YLEN A 3|
8,000 x2H x6 x12& 1,152
202 04d| 5,520 3,600 1,920
01 2L Y| 5,520 3,600 1,920
ogxiel &= £ F=& oYl
60,000& *4H x233] 5,520
203 ¥R =&Y 3,000 2,000 1,000
03 AR ZZ 2 EA Y| 3,000 2,000 1,000
O Xel&EaAMY FR2HE HRFEH|
3,000,000& x 14! 3,000
Ngary sy o s A 1,448,645 1,200,000 248,645
= 966,822
Al 481,823
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02 DI2ZtZ AAMEE X 230,142 230, 142
OXY 3HE 2428 23t LAY
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= 82,244
& 73,949
Al 73,949
M HYE L2 ALY 1,445,406 1,445,406
= 340,353
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Al 552,527
307 212t01 & 1,445,406 1,445,406
= 340,353
< 552,526
Al 552,527
02 DI2ZtZ AAMEE X 1,445,406 1,445,406
ONY HY WYL= AFY  1,445,406,000& * 14! 1,445,406
= 340,353
= 552,526
Al 552,527
=SZYHYAELMH S 646,326 646,326
101 @121l 15,326 15,326
04 JI2ZtHI 22 XNEE % 15,326 15,326
OHMdH EtF3EH & Ald22] 15,326
—-J|I=23 68,720 21«8 & x1H 11,545
—F5Y 68,720 34 x1H 2,337
— =043 13,882,000& *4 .5% 625
—ALEE 13,882, 000& *3.23% 449
- 1888 13,882,000& *1.5% 209
—MHEE 13,882,000& *0.873% 122
— &I YEH 449,000 *8.51% 39
201 Yer2 | 170,000 170,000
01 AP 22l Yl 150,000 150,000
OdE ozt 24 8,720
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OondeE =2 100,000& »201 x123] 2,400
OXI & HZ HAM=E 120,000 »3H x33| 1,080
oY & 249 N2+ 200,000& *3H +33] 1,800
O2g<e sloaAl 100,000 »7H 23] 1,400
OdHe 2z ¥ 210F  7,500,000& <141 +13] 7,500
Ode 222 & X M=
5,000,000& * 14«23 10,000
Og=xD gags NI (ZHSHH)
5,000,000& =64 30,000
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20,000,000& =14 20,000
O=&8A EX 82 & HMH
20,000,000& =14 20,000
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28 29 5,000,000 =14 5,000
02 =224l 20,000 0 20,000
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OdH HIIR=S 1,050,000& « 1204 & 12,600
O4lH &ot=ER3 200,000 1201 & 2,400
OHdE AIERX 2 950,000& *43] 3,800
202 (4 Hl 1,000 0 1,000
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— 254 (2Y) 2,000,000 x2H 4,000
—3SaH(hYH) 976,000 x5 4,880
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OFZFF1, &2 24 48,460
— 55 AU du 1,000,000& =128 12,000
ot 23 300,000& =128 3,600
—stes 50,000& 123 600
— &3t EA 470,000& »23] 940
— &S (AE, AR, T2 XY 5)
2,070,000& x12& 24,840
— AN sX2el 500,000& x12& 6,000
—HAUAER 40,000& 123 480
NEF=E NG9EFXNJAE 3@ A2 HEE =2 2,920,420 2,920,420
nNE
= 1,236,710
Al 1,683,710
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O&JletE e = 120,000& = 12& 1,440
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02 =224l 8,000 0 8,000
OHIIRS 400,000& 123 4,800
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